CK12 waves test review:
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image11.png
The frequency of a wave with a ime period of 0.01 seconds is

a s0Hz

b 25Hz

c 100Hz

d ashz




image12.png
If 3 400 g object is suspended from a spring with force constant 20
N/m. Then the frequency of oscillation will e 1125 Hz

TRUE

FaLsE




image13.png
While treading water, you notice a buoy way out towards the
horizon. The buoy is bobbing p and down in simple harmonic
motion. You only see the buoy at the most upward part of s cydle.
You see the buoy appear 10 times over the course of one minte.
Wnatis the frequency (f) of s cycle?

a f %Hz
b f %Hz
c f-tm
T 10
1




image14.png
A 200 g object is suspended from a spring with a force constant of
25 Nim. Whatis the system's period of oscillation?

a 02455

b 056ls

c 0467s

d 03425
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‘Which of the following graphs represents relationship of the force (F)
and the displacement (x) in a simple harmonic motion?




image16.png
A spring has a spring constant of 50 N/m. How far will it stretch when a
block weighing 24 N is hung fromIts end?

b o4sm

c 025m

d otom
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A spider of 0.5 g walks to the middle of her web. The web sinks by 1.0
mm due to her weight. You may assume the mass of the webis
negligible. How long is each cycle?

a 256325
b 006255
© 099205

d 389205
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The force on the mass during the oscillation of a spring is greatest at
the mean position.

TRUE

FALSE
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/A12 N force is necessary to stretch a spring 0.20 m, if the spring
constant is 40 N/m.

TRUE

FaLse
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A spring compressed by 0.2 m develops a restoring force of 20 N.
An object of § kg Is placed on it, calcuiate the period of oscilation if
the mass is displaced.

a 2.54seconds

b 4.98seconds

© 313seconds

d 177 seconds
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A pendulum weighs 5.3 kg. The length of the pendulum is 2.1 meters.
What is the period of its oscillation? (g = 9.81 m/s?)

a 023 seconds

b 046seconds

© 291seconds

d 021seconds

e 093 seconds




image22.png
The distance between the crest and the trough of a water wave is
0.2m. What is the amplitude of this wave?
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Find the length of a pendulum that oscillates (under the influence of
usual Earth gravity g=10m/s?) at a frequency of 0.20 Hz.

a ggom
b 432m
c 87am

d 621m
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If Sandy quadroupled the length of a pendulum, the period would be

a Not enough information
b Doubled
c cutinhaff

d Fourtimes s long
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Based on this wave diagram, how long is each wavelength?
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If a beam of light travels in space at 3.00 x 10°m/s, and its frequency is.
7.44x107Hz, what s ts wavelength?

a 144x105m
b 462x10°m
¢ 133x10°m
d 355x10°m

e 4m




image27.png
Radio signals are carried by electromagnetic waves (i.e. light waves).
The radio waves from San Francisco radio station KMEL (1061 FM)
have a frequency of 106.1 MHz. When these waves reach your
antenna, your radio converts the motions of the electrons in the
antenna back into sound. What is the wavelength of the signal from
KMEL?
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Ifa wave is traveling at a speed of 250 m/s and its frequency is 50
Hz, then Its time period wil be.

a 005s

b 004s

d 002s




image29.png
Light with a wavelength of 6.53 x 10 meters travels through amber
with a velocity of 1.94 x 10° mys. With what velocity wil a light with a
‘wavelength of 4.55 x 107 travel through amber?

a 355x10°mis
b 123x10°ms
c 256x10°mis
d 194x10°mss

e 153x10°mis
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If 20 waves pass a fixed point in 10 seconds, the frequency of the
waves is

a 2Hz

b 200Hz

c 20Hz

d 100 Hz
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The frequency of waves from a radio station is 15 megacycles per
second. Calculate their wavelength.




image32.png
The frequency of a sound wave is 457 Hz and the speed is 342.5 ms.
What is the sound's wavelengtn?

a o750m

b 023am

c o4s7m

d o1s6m
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A hiker shouts toward a vertical cliff 685 m away. The echo is heard
4,005 later. What s the speed of the sound in this air?

a 2536mis

b 3425mis

c 4238ms
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The speed of lightin airis 3.00 x 10°m/s. If a light wave has a
wavelength of 5.80 x 10 7m., what s its frequency?

a 417x10'Hz

b 517x10 “Hz

€ 517x10"Hz

d 217x10®Hz




image35.png
Alongitudinal wave that carries more energy has particles that are

a closertogetner n rarefactions.
b fartner apart in compressions.
€ the same distance apart everywhere.

d  none of the above.
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A sonar signal leaves a submarine, travels through the water to
another submarine and reflects back to the original submarine in 4.00
s. Ifthe frequency of the signal is 512 cycles per second and the.
wavelength of the signal is 2.03 m. How far away is the second
submarine?

a 2070m

b 1000m

c 4500m

d 3000m
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Alongitudinal wave is observed. Exactly 6 crests are observed to
move past a given point in 9115, Its wavelength is 2.4 m and its
frequency is 0.66 HZ. What s the speed of the wave?

a 1s8ms
b 378mis
c 236ms

A nma e
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Assume that 10 waves pass a fixed point in 5 seconds. What is the
frequency of the waves in hertz?

a sHz

b 4Hz

c 10Hz

d 2Hz
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‘Which of the following factors affect the speed of a sound wave?

a Density of the mecium
b Temperature of the mecium
©  Amount of humidity in the medium

d Al of the above




image40.png
'd the length of a pendulum that oscillates (under the influence of
ssual Earth gravity g=10m/s?) at a frequency of 0.20 Hz

a 4m:2m
b 621m
c 87am

d o90om




image41.png
Radio signals are carried by electromagnetic waves (ie. light waves),
The radio waves from San Francisco radio station KMEL (1061 FM)
have a frequency of 1061 MHz. When these waves reach your
antenna, your radio converts the motions of the electrons in the
antenna back into sound. What is the wavelength of the signal from
KMEL?

a 17m

b 39m

c 28m

d s52m
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ot 0 tis wave ciagram, how ong i each wavelengtn?

a 15uns

b sus
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A bird beats its wings up and down with a frequency of 40.0 Hz.What
is the period of the bird's flaps?

a 00255

b 025s

c 05s

d 0134s




image44.png
A sonar signal leaves a submarine, travels through the water to
another submarine and reflects back to the original submarine in 4.00
5. Ifthe frequency of the signal is 512 cycles per second and the
wavelength of the signal is 2.93 m. How far away is the second
submarine?

a 3000m

b 1000m

© 4500m

d 2070m




image45.png
A spring has a spring constant of 50 N/m. How far will it stretch when
2 block weighing 24 N is hung from its end?

a 033m

b 048m

c otom

d 025m




image46.png
While treading water, you notice a buoy way out towards the horizon.
‘The buoy is bobbing up and down in simple harmonic motion. You
only see the buoy at the most upward part of ts cycle. You see the
buoy appear 10 times over the course of one minute. What s the
period (T) of the cycle?

b 600s
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If a beam of light travels in space at 3.00 x 10°m/s, and its freqt
7.44 < 107Hz, what is its wavelength?

a 355x10°m
b 462x105m
c am

d 133x10°m

e 144x10°m
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8 eUY g ODJECt IS SUSPENded Trom 3 spring With a force constant of <o
N/m. What s the System's period of oscillation?

a 04675

b 03425

c 02455

d 0561s
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A pendulum weigns /.5 kg. The length of the pendulum is 4.2 meters
and the max swing angle is 65 degrees. What s the frequency of its
oscillation? (g = 9.81 mis?)

a 153Hz
b 09aHz
© 024Hz
d 234Hz

e 076Hz
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‘The frequency of a sound wave is 457 Hz and the speed is 342.5 mis.
Wnatis the sound's wavelength?

a o1s6m

b 0487m

c 0234m

d 0750m
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A hiker shouts toward a vertical cliff 685 m away. The echo is heard
4,00 later. What is the speed of the sound in this air?

a 3425mis

b 2536ms

c 4238mis
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A spider of 0.5 g walks to the middle of her web. The web sinks by 10
mm due to her weight You may assume the mass of the webis
negiigible. If @ small burst of wind sets her in motion, with what
frequency will she oscillate?

a 6Hz
b 45Hz
c 28Hz

d 32H
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The frequency of a wave with a time period of 0.01 seconds is.

a 100 Hz

b 45Hz

c 25Hz

d 50Hz
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The maximum linear velocity of a mass swinging on the end of a
pendulum 2 meters long is 4 meters per second. Calculate the period
of the pendulum.

a 3225

b 17s

c ams

d 2.83s




image55.png
A spring compressed by 0.2 m develops a restoring force of 20 N. An
‘object of 8 kg is placed on it calculate the period of oscillation If the
mass is displaceq.

a 254 seconds

b 177 seconds

© 498 seconds

d 313seconds
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A longitudinal wave is observed. Exactly 6 crests are observed to
move past a given point in 9.15. ts wavelength is 2.4 m and its
frequency is 0.66 HZ. What is the speed of the wave?

a 378ms

b 158ms

c 256mis

d 236mis




image58.png
The speed of light in air is 3.00 x 108m/s. If a light wave has a
wavelength of 5,80 x 10~ Tm. what s ts frequency?

a 417x10'Hz
b 517x10 MHz
€ 517x10"Hz

d 217 x10¥Hz




image4.png
Q;L 5o»ym Hou {
it stretch when o bloc,kwe- L
ton is hong from |t 2

et § g
1on= sovm () |1

e





image5.png
Pendulvm

L =L4m
tohat is the
Bt 3.0kg

perio
RE= 27

4

=2ﬁf%a =23

T

Amplitvd®





image6.png
G (asmsd)
amT

=Ll 3% "@A eais: -

L= TR





